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Gleichungen 
 grundlegend  erweitert 

Gleichungen lösen 

 
5x + 16 + 3x = 7x + 17 

 
3 – (6x – 3) = 12 – [6x + 1 – (x + 2)] 

 
6x – (4x + 8) = x – 9. (2 - x) 
 

 
2 ∙ (4x + 12) + (3x + 10) ∙ 2= 10x – (4x – 60) 
 

 
28+ [(5x + 3) ∙3 – 15 – 4. ( - 5 – 2x)] = 88 
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(5x + 3)² - (4x - 1)² = 9 x² - 30 

 

Formeln umformen A = 
c .hc

2
     c =? 

 

A = 
(𝑎+𝑐)⋅ℎ

2
     c =? 

 

s = v0 . t + 
a

2
 . t²     v0 =?     a =? 
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